### Florida Medicaid September 2007 - August 2008 FINAL Reform Capitation Rates

## Area 4 FINAL Comprehensive & Catastrophic (Duval, Baker, Clay, & Nassau)

#### FINAL

FINAL									
Age Range	FY0708 Discounted Reform rates Under Current Methodology	Percentage of Current Methodology	50% of Current Methodology	Preliminary FY0708 Base rates for Risk Adjusted Methodology	Budget Neutrality Factor	FY0708 Base rates for Risk Adjusted Methodology after Budget Neutrality	Percentage of Risk Adjusted Methodology	50% of Risk Adjusted Methodology	Final Rates (with Enhanced Benefit Adjustment)
а	b	С	d	е	f	g	h	I	j
Eligibility Category	Children and Fam	ily							
Month 0-2 All									\$942.31
Month 3-11 All									\$218.74
1-5 All	\$113.17	50%	\$56.58	\$124.53	1.0412	\$129.66	50%	\$64.83	\$118.98
6-13 All	\$82.75	50%	\$41.37	\$124.53	1.0412	\$129.66	50%	\$64.83	\$104.08
14-20 Female	\$119.81	50%	\$59.91	\$124.53	1.0412	\$129.66	50%	\$64.83	\$122.24
14-20 Male	\$81.70	50%	\$40.85	\$124.53	1.0412	\$129.66	50%	\$64.83	\$103.56
21-54 Female	\$218.13	50%	\$109.06	\$124.53	1.0412	\$129.66	50%	\$64.83	\$170.41
21-54 Male	\$158.54	50%	\$79.27	\$124.53	1.0412	\$129.66	50%	\$64.83	\$141.22
55+ All	\$350.55	50%	\$175.28	\$124.53	1.0412	\$129.66	50%	\$64.83	\$235.30
Composite Based on Total Casemonths	\$119.40					\$129.66		\$0.00	\$122.04
Eligibility Category	Aged and Disable	d							
Month 0-2 All									\$14,803.79
Month 3-11 All									\$3,019.63
1-5 All	\$537.41	50%	\$268.70	\$657.05	1.0508	\$690.42	50%	\$345.21	\$601.64
6-13 All	\$312.13	50%	\$156.06	\$657.05	1.0508	\$690.42	50%	\$345.21	\$491.25
14-20 All	\$296.53	50%	\$148.27	\$657.05	1.0508	\$690.42	50%	\$345.21	\$483.61
21-54 All	\$790.16	50%	\$395.08	\$657.05	1.0508	\$690.42	50%	\$345.21	\$725.49
55+ All	\$809.32	50%	\$404.66	\$657.05	1.0508	\$690.42	50%	\$345.21	\$734.88
Composite Based									
on Total Casemonths	\$623.67		_			\$690.42		\$0.00	\$643.91

# Area 10 FINAL Comprehensive & Catastrophic (Broward)

#### FINAL

FINAL								
FY0708 Discounted Reform rates Under Current Methodology	Percentage of Current Methodology	50% of Current Methodology	Preliminary FY0708 Base rates for Risk Adjusted Methodology	Budget Neutrality Factor	FY0708 Base rates for Risk Adjusted Methodology after Budget Neutrality	Percentage of Risk Adjusted Methodology	50% of Risk Adjusted Methodology	Final Rates (with Enhanced Benefit Adjustment)
b	С	d	е	f	g	h	i	j
Children and Fam	nily							
								\$907.28
								\$208.49
\$106.14	50%	\$53.07	\$117.69	1.0746	\$126.47	50%	\$63.23	\$113.98
\$82.94	50%	\$41.47	\$117.69	1.0746	\$126.47	50%	\$63.23	\$102.61
\$115.00	50%	\$57.50	\$117.69	1.0746	\$126.47	50%	\$63.23	\$118.32
\$79.98	50%	\$39.99	\$117.69	1.0746	\$126.47	50%	\$63.23	\$101.16
\$202.08	50%	\$101.04	\$117.69	1.0746	\$126.47	50%	\$63.23	\$160.99
\$146.71	50%	\$73.35	\$117.69	1.0746	\$126.47	50%	\$63.23	\$133.86
\$325.58	50%	\$162.79	\$117.69	1.0746	\$126.47	50%	\$63.23	\$221.50
\$108.91					\$126.47		\$0.00	\$115.34
Aged and Disable	ed							
								\$17,822.94
								\$3,594.38
\$631.27	50%	\$315.63	\$813.28	1.06682	\$867.63	50%	\$433.81	\$734.46
\$355.68	50%	\$177.84	\$813.28	1.06682	\$867.63	50%	\$433.81	\$599.42
\$343.79	50%	\$171.90	\$813.28	1.06682	\$867.63	50%	\$433.81	\$593.59
\$930.27	50%	\$465.13	\$813.28	1.06682	\$867.63	50%	\$433.81	\$880.97
\$965.71	50%	\$482.85	\$813.28	1.06682	\$867.63	50%	\$433.81	\$898.33
\$758.94					\$867.63		\$0.00	\$797.02
	Discounted Reform rates Under Current Methodology b  Children and Farr \$106.14 \$82.94 \$115.00 \$79.98 \$202.08 \$146.71 \$325.58 \$108.91  Aged and Disable \$631.27 \$355.68 \$343.79 \$930.27 \$965.71	Discounted Reform rates Under Current Methodology         Percentage of Current Methodology           b         c           Children and Family           \$106.14         50%           \$82.94         50%           \$115.00         50%           \$79.98         50%           \$202.08         50%           \$325.58         50%           \$108.91         Aged and Disabled           \$631.27         50%           \$355.68         50%           \$930.27         50%           \$965.71         50%	Discounted Reform rates Under Current Methodology         Percentage of Current Methodology         50% of Current Methodology           b         c         d           Children and Family           \$106.14         50%         \$53.07           \$82.94         50%         \$41.47           \$115.00         50%         \$57.50           \$79.98         50%         \$39.99           \$202.08         50%         \$101.04           \$146.71         50%         \$162.79           \$108.91         \$108.91         \$162.79           Aged and Disabled         \$355.68         50%         \$315.63           \$355.68         50%         \$177.84           \$343.79         50%         \$465.13           \$965.71         50%         \$482.85	Discounted Reform rates Under Current Methodology         Percentage of Current Methodology         50% of Current Methodology         FY0708 Base rates for Risk Adjusted Methodology           b         c         d         e           Children and Family	Preliminary   Preliminary	Percentage of Current Methodology   Percentage of Current Methodology   Professional Professi	Prototo   Prot	Protection

Area 4 FINAL SSI Rates (Duval, Baker, Clay, & Nassau) FINAL					
		Under Age 65	Age 65 & Over		
SSI/Parts & B	Α	\$200.51	\$135.15		
SSI/Part Only	В	\$369.64	\$369.64		

Area 10 FINAL SSI Rates (Broward)					
	Under Age 65	Age 65 & Over			
SSI/Parts & B	<b>A</b> \$192.29	\$129.85			
SSI/Part Only	<b>B</b> \$249.37	\$249.37			

Area 4 FINAL HIV / AIDS (Duval, Baker, Clay, & Nassau)					
FINAL					
HIV (no medicare)	\$1,216.29				
AIDS (no medicare)	\$2,394.42				
HIV-SSI/Parts A & B, SSI Part B Only	\$199.19				
AIDS-SSI/Parts A & B, SSI Part B Only	\$425.36				

Area 10 FINAL HIV / AIDS (Broward)						
FINAL						
HIV (no medicare)	\$1,966.44					
AIDS (no medicare)	\$3,690.26					
HIV-SSI/Parts A & B, SSI Part B Only	\$331.60					
AIDS-SSI/Parts A & B, SSI Part B Only	\$708.10					